AHE2 — 3

SM2FE EBFAES
SH2FE581H S BSM3F4A30B£ T
BRERBFEEEFETREARBELRFVDEY T A Ry IR - D y/8y
(BN 2 1)
2} B & i)
— R IE R B E 3R D B
I R E
1 ZWRE
FEREZBMRE 1, 026, 000
BEhREZNRE 875,000 1,901, 000
2 ZWEME
ZEE & 1, 845, 000
BEEMRMED L OIRERE (FH$) 0
REERMED, > OIREE (ITHEE) 99, 000| 1, 944,000
3 ZEEhAE
REVENTS< 0 Hdr 0
4 FFEPER
(1) 7 — 2N — XIEREZENLR 3, 819, 890
(2)FBY OF — R ERAEEINGS 878, 799
(3)FEV ([CEET MR - HHEE NS 636, 000
(4)Z DD BN 0| 5,334,689
5 Z O
ZEF) B 10
HEUR A 6, 780 6, 790
BREINESEE 9, 186, 479
I BEER
1 =x#B
(DAHE
TR A AR 819, 399
AFFEE 819, 399
(2) % Db E
XEE 0
2B 0
WREBE 28, 248
BIEE 115, 730
HFEmE 334, 020
IRl S A2 159, 362
Eika 1, 255, 342
AILFHR 2, 240, 417
i 0
=58 11, 000
HEE 25, 111
V7 by TERNE 213, 840
xRE 643, 500
#HeE 0
55 LR i 10, 522
Z DR EET 5,037, 092
EEEE 5, 856, 491
2 BRE
(DAHE
TILRA AR 488, 796
UNGE-E 488, 796
(2) % Db E
T 0
XEE
E




LIS AL 222, 992

LC 297,793

H £ & B 10, 137

DRl & AR & 46, 530

X F R 179, 771

GZES /NS 28, 200

RE 214, 500

KEHERE 54,910

" & & 13,219

¥ 1, 260

= B & 0

# 2 B 0

Z DR EET 1,099, 312

EBEET 1,588,108
REERAGE 7, 444, 599
5| B2 B IE R A EE SR RRR 1,741, 880
EATL, ERMKRUEER 70, 000
L B — AR IE R A EE SRR 1,671, 880
AR — A% [E SR RS EE R 5,283, 175
RERHEM— AR ERR A ERR 6, 955, 055
Y8 7€ IERR B EE 3R D 6

| ZHEFHE 0
Il TS EBEEIIS 0
N —AEBRMAE A~ DIREEE -99, 000
L ERYE E IE R EEIRIRAR -99, 000
AR TS T 1IE bR RS EE SR 3, 354, 750
RERIRBITE E ERR A ERR 3, 255, 750
RHAHR M IE SRS EE R 10, 210, 805




